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LAW DEGREE EXAMINATION - DECEMBER, 2015.
THIRD SEMESTER
3 YEARS LL.B.
(Regular/Supplementary)
Paper — XIV : PUBLIC INTERNATIONAL LAW
i (Common Paper for CBUS & Non-CBCS)
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Time : 3 Hours
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10.

13.

Max. Marks : 1 00

PART - A
Answer any SIX questions. (6 x 4 = 24 marks)
Each question carries 4 marks.

Treaty:
Juscogens.
NGO.
Succession. -
Self defence.
GATT.
Nagasaki.
Antarctica.
Common Heritage.
PART - B
Answer any TWO questions. (2x18=36 max:‘ks)

Each question carries 18 marks.

Explain the nature of International Law and criteria of statehood under
International Law.

Define custom and its types. How customs formed a source of International
Law.

De'ﬁ'_ne treaty and essentials of a valid treaty with special reference to
Juscdgens.

Discuss the law relating to outer space.
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LAW DEGREE EXAMINATION - DECEMBER, 2015.
THIRD SEMESTER
3 YEARS LL.B.
(Regular/Supplementary)
Paper — XV : LABOUR AND INDUSTRIAL LAW
(Common Paper for CBCS & Non-CBCS)

\. J
Time : 8 Hours Max. Marks : 100
PART - A

Answer any SIX questions. (6 x 4 = 24 marks)
Each question carries 4 marks.

Y- Labour.

2. Welfare state.
-3.  Trade union.

4~ Collective bargaining.

5 Strike,
67" Price control.

7.  Public Interest.

8.  Social Justice.

S Conciliation,

PART -B
Answer any TWO questions. (2 x 18 = 36 marks)
Each question carries 18 marks.
- | )
A0. Explain the origin and development of Labour movement in India.
11. Examine the concept of collective bargaining and the bargaining process
involved. ~ | :

}27 Describe the concept of wages and its components.

13. Explain the legal protection available to employees regarding their health and

safety.
. Turn Over
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PART=C

Answer any TWO questions. (2 x 20 = 40 marks)

Each question carries 20 marks.

A person was injured when he was working at a chemical factory. He was
taken to hospital but dies. Later it was found that he was a causual employee.
Can the wife of deceased claim damages. :

A women was working at a night shift and was assaulted by co workman. She
complained to the employer but he ignored. Explain the alternate law and
remedy available to wumar.

‘A company which employed 50 persons was found that it was not paying the

minimum wages and were dumped in sheds whole working. Discuss and advise
the person when one of them approaches you.

A hazardous gas escaped and killed the labour working at that time. The
employer escaped the liability claiming that it was the fault of the workman
themselves. Argue the case on behalf of workmen.
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